
Trigonometry And Matrices : Applications Of  De Moivre’s Theorem

Calculus

Pascal 's Rule
-
-

n = Cosa + i. Sino

tiw¥ño=
= Cosa - isino

k%= Cosa + isin + Cosa - ilsino
= 2600



a- he = tosti Sino - too + isino

= Ii since

am = ( losotisinojn

= Cosmo + isinmo

atm = Cosmo - isinmo

Ñ%m= 26s .no



Hm _ atm = 2 isinmo .

(n + a)
"

= Monna
"

+ NG sen
- ta' + nczxn -2a2

+
- - - -

.

+ NG,
Un-man.

✗ + = n°+6 n"-115K

+ 20%5-1%-1f-
÷



COMO = ¥ (Como -174050+216030-1
35USD)

¥ .
✗ = Cosotisino

xm= Cosmo + isinmo

÷ . Coro - isino

÷m= Cosmo _ isinmo

✗⇒ = Llosa Ñʰ%m=2CosmO .



( ✗% I = 2
'

cos
'
0

(
"

÷I = a' + 7 as+
21 Ñ +35 a +3¥
+ !÷ + Is +¥

2
'

Coto
=µ+÷, ) + 1( v5 +%-) +2 ' (

"+



+ 35K¥)
= 26170 +7*6150+21×2630 -1

35×26 SO

£ Como = 2 ( cos 70 +7 Cos50 + 21 Cos30
+

35 Loso )

↳$0 = § I a) = ¥ Cost +76850 -1216s> •

1-35 Gsd .



Hence L.MS -_ RIH'S

Proved.
=

16 sins = sin50 -5 Sin30+10 Sino -

¥ ✗ = Cosotisinio

✗% Cosmo + isinmo

be = Cosa - i since

÷m= Cosmo - isinmo



✗
= Ii

sina.M-fm-2isinmo.is
__ i

M¥§= 25 issinso .

= 25 i sins

µ -1nF
=

?



C-he)5= 25- 5 r? +10 a

- 10 -

⇒÷ -¥
25 i sins0=45 -¥) - 51×3 -%) -1101%1

= Ii sin 50 - 5 (Ii sin30) -11012 i Sino)

= 2 i ( sin50 - 5 Sin30 + losing



sin 'd = ¥g ( sin 50 - Ésinso -110 Sino)

= ¥ ( sin 50 -5 Sin30 -110 Since )

16 Sin50 = sin 50 -5 Sin
>0 -110 Since


